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Topic:- Child Development & Pedagogy (CDP)

1) The two main motivation categories of needsare _____ . / JTAGSHAT I I T RS @i __ g1
1. reward based and fear-based /Eﬁ?\‘TIE:T YR 3R Y 3TeTRa

2. intrinsic and reward based / 3R GHTFﬁ?\‘:HE:[ amerfea

3. intrinsic and extrinsic / 3@ 3R &I

4. extrinsic and fear-based / ST 3R 4 3

Correct Answer :-

« intrinsic and extrinsic / 3TaRke 3R o1&l

2)  stageis termed as ‘Questioning Age’ as well as ‘Gang Age’. /____ 3[dRJT & Hyf Q\_ﬂ’ F TQIY-TY AT Qﬂ’ W HETAET R
1. Adolescence /W

2. Adulthood / UIh

3. Early Childhood / TRTRY& S9U-

4. Later Childhood / ¥ ddU-

Correct Answer :-

« Later Childhood / U¥Y ddU-

3) Applied behavior analysis (ABA) is used to help children with which of the following conditions? / 3[JUgdd AR fa=agor (TdE) &1 TR
T @ Faferfaa o @ g Ry # 7eg 1 & fore fpar sran 82

1. Attentional deficit disorder / &FTHTG fd®R (GI%:Q'I:I?T %W%H&I}I%?)
2. Dyslexia / )uaﬁw qHET (%@m

3. Autism / T (3ifew)

4. Dyspraxia / TfaaH=a9 3oy (fSavifdmm

Correct Answer :-

« Autism / T (3fffesH)

4) Mnemonics is a technique. /'\‘Hﬁf o= B dBHID %I
1. Reading / UTSH

2. Writing / AT

3. Evaluating / JedTe1
4. Memorizing / dTc X1

Correct Answer :-
- Memorizing / T QG-I

5) What is the term used by Vygotsky to describe the type of role that parents and teachers have in a child’s development? / Wﬁ % faer o Arar-fuar

3R gl B YT BT quiv HIA F T argTiicyest gRT [ Ue &1 IuaRT fohar war 82
1. Scissoring /Ho_cmTI'UT (ﬁlﬁlﬁﬂ)

2. Scaffolding / ATHIRTEG TERIAT (RSB ITTRTT)

3. Lecturing / STRHTT



4. Teaching / Refor

Correct Answer :-

« Scaffolding / FTATRIS T (HHITCET)

6) What is the term used to describe the typical, highly representational example of a particular concept? / foreft fatw sraeron & fafdy, S= fHsuor ara
ITERI BT qUI A & g ey ug &1 Swai fpan s 37

1. Heuristic / Gﬂq'l"ﬁ

2. Symbol / J&d

3. Prototype / Uieresy

4. Premise / URIR (‘Jﬁﬁlﬂ)

Correct Answer :-

« Prototype / WiEiegq

7) What type of questions would likely measure abstract reasoning in an intelligence test? / T §@Tﬁﬁ uﬁ&mﬁmw FusF Sl'll?f?ﬁ? B AT
BT U B2

1. Comprehension / ey

2. Matrix reasoning / ﬁﬁj‘\q LE2
3. Synonyms / HMIY® g

4. Similarities / FAIATS

Correct Answer :-

« Similarities / HFATY

8) What are tests that taken into account the environment in which a child learns called? /

T B A weror § S S0 ATed &) e A vad & Rl T s siftnd wea 82
1. Accuracy tests / URRIGdT UI&OT

2. Power tests / & URI&UT

3. Culture fair tests / ST & TRAE0T

4. Speed tests /7T TSYeqor

Correct Answer :-

« Culture fair tests / STl fIeTef TRigom

9) What from the following options constitute language and thought together?/ Frafafad e & F urar 3k TR ve ary & a7 82
1. Spatial thinking/ ®ITFe fia

2. Logical thinking/ GEACGES

3. Visual thinking/ T1 fefa=

4. Verbal thinking/ T feie

Correct Answer :-

« Verbal thinking/ Fif&e fRid

10) To do well as a financier, one should have: / T mﬁw P EUH DT I & 1%111, fodt %Wmﬂﬂ%ﬂ
1. Musical inte]ligence/@ﬂaﬂqgﬁ

2. Kinesthetic intelligence/ TﬁW@@ (ﬁ?ﬁ@ﬁ?ﬁ m

3. Spatial intelligence /m@@ (@ﬁma @mﬂ)

4. Logical intelligence/ amgi?

Correct Answer :-

« Logical intelligence/ m@@



An investigator doing laboratory experiments and gathering data comes under: / T SAY® YANTRIEAT | T B GCRL Qa?ﬁ?l' Tl § 98 foas siafa
TaT 32

1. primary data/ W0 Gm
2. final data/ 3ffcrd m

3. tertiary data/ ?FﬁW s
4. secondary data/ oy \}m

Correct Answer :-

o primary data/ i 3{\1@%'

12) Human development is a process. / e e e ufpar R
1. Sporadic / 3T (TRTSH)

2. Random / Tefe a@m

3. Cumulative / St (aqa?rf?a)
4. Intermittent / AFRER (FeRHT)

Correct Answer :-

+ Cumulative / §aY (aqa?rﬁa)

13) Which of the following is NOT the benefit of active learning? / frafafaa o ¥ Si-ar afer siftrmy &1 a1y T8 82
1. Develops Collaborative skills / TEUNTHD DI BRI BT

2. Home work / ﬂg—aﬂ'&f (E-Tq ?Ei?)

3. Improves critical thinking / SAFTES A Bl gk FHT

4. Encourages risk taking / SRIA T BI Uienigd BT

Correct Answer :-

« Home work / ‘]_E:'—aﬂ?f (_E?IT{ ?Fi?)

14) Which of the following is not an aspect of learning? / FeraferfEa & & Si-ar siftrm &1 Th Wqﬁ %?
1. Biological preprogramming/aﬁaim

2. Permanence / RI1I@

3. Behavioural change / FagR uRad=

4. Experience / 3{Hd

Correct Answer :-

« Biological preprogramming / S ot

15) In order to avoid punishment, it is always better to obey the rules. This kind of acceptance is seen in which of the following stages of moral development? /

e & 9 & ferg, Frawl 1 urer S g9 dgeR giar 8| Pl § @ e wor & v e & sw Wil ot @ e g?
1. Postconventional morality/ U%d URUR®E BIREI]

2. Transcendental morality/ URefp D A @Rﬁ%&'ﬂ aRiferd)

3. Conventional morality/ TRUR® Sfdehdr

4. Preconventional morality / Gd TRUR® fderdr

Correct Answer :-

« Preconventional morality / Jd URURe Sfaerdr

16) If a child loses weight rapidly and does not seem to eat throughout the day, what disorder might s/he be diagnosed with? /afe fasdt T BT deit A ol

HHEITET ¢ SR i3 1R oo TE Wrar ¢, df 3T S-91 [IpR urar s gevar 82
1. Obesity / AT

2. Anorexia nervosa / TARIRTIT TG

3. Tic disorder / f¢& fadR

4. Insomnia / \’ﬂﬁw



Correct Answer :-

« Anorexia nervosa /QW’EIT aaram

17) A Neo-Freudian, whose ideas on child development had a major influence, was /TP W-W%TF{, ISECd gRI 9Td A w® ﬁ'({ Ry ICEIREa Th
TSTYHTG AT, ¥ )

1. Erik Erikson / WQ’&TRFI
2. Jean Piaget/\_sﬁ?ﬁ'q'lﬁ

3. Carl Rogers / BT Ao

4. Carl Jung / &Tdl 71

Correct Answer :-

« Erik Erikson / TRa& TR

18) Who first used the term “Self-actualization” to describe completion and unity?/ fFa= QuiaT 3% U@a1 &1 quiF HA & T T Ugd ama RfG 2reg &1
T faar ur?

1. Alfred Adler/ 3/@hS TSR

2. Abraham Harold Maslow/ 3{SITgH gRIe8 TRl
3. Karen Horney/ BBl

4. Carl Jung/ EﬁTEfoT

Correct Answer :-

« Abraham Harold Maslow/ 37§TgH gRIce ARG

19) The term SLD in children’s mental health denotes for: / T & WIS ey # W Reg BT 3 of %:
1. Self- Learning Direction. / Je- AT STRERH

2. Special Learning Direction / TR AT SRR

3. Specific Learning Disorder / SRifth s @f1 fEgaiidR

4. Symptoms of Learning Disorder. / Rgery sifes af fEgsiiar

Correct Answer :-

o Specific Learning Disorder / WA af fEqaisr

20) The perception of a situation as a ‘whole’ gives a better understanding than the sum total of its parts and makes the occurrence of insight possible. Which

learning has this as its basis?/’W’%WﬁwmiﬁWmm%ﬂmmmmﬁ%mmﬁmﬁwm%\ 3R &t fpa
faem ) SHST YR AT STaT 82

1. Trial and Error Learning / G&0T iR 3fe sifdmmmy
2. Learning by Insight / 32 & mnerg & e
3. Learning by Imitation / 30T o HTeAH & STH

4. Learning by Experience / 3 JHa & Ty § ST

Correct Answer :-

« Learning by Insight / S{qef® & A1 ¥ 31y

21) The child will be able to use proper sentences by the age of: | =1 T 39 | IRIT a1 BT ST B UrA:
1. Five years IIEE:L]

2. Four years /AR Y

3. Three years / A af

4. Six years / ®: T8

Correct Answer :-

o Three years / daf

22) The rules of presenting the content to make them easy are called ./ TR B S 991 & ﬁl‘lz uHqd w1 & fAam &t bel SITdl %I



1. Maxims of teaching / &1 &1 Rigid
2. Techniques of teaching / RI&0T &} qdb-1w
3. Methods of teaching / Rr&01 %1 fafdy

4, Teaching strategies / fR1&for YU

Correct Answer :-

« Maxims of teaching / RI&r01 &1 Rrgia

23) Proximodistal means: / I T g (MRfmfEea) w14 3:
1. Centre to periphery / 35 4 ORI q% (Iex ¢ AR

2. General to specific / T ¥ fafRIY d& (GFRA ¢ WRith®)

3. Head to toe / RR Y TR P 33 % (S T )

4. Simple to complex / TRE 4 Sffed dd (RATW g HIvciaw)

Correct Answer :-

o Centre to periphery /%@mﬁfﬁw (W@W)

24) Teachers should overall have attitude towards inclusive education. /ﬁr&lﬁﬁmﬂﬁﬁwﬁﬁﬁﬁ&m%uﬁr
ECRIRECE IS Y

1. Positive / YDHRIHD

2. Negative / THRIHD
3. Different / Qb
4. Neutral /ﬁm&r

Correct Answer :-

« Positive / IHRTHD

25) Social construction of gender describes gender as: / o 1 AT Rt fof 1 aufe W?IT%:

1. Personal opinion of their biological sex. / Sifde T & aR § 37! afeid |

2. The behaviors and characteristics based on the biological sexes. /ﬁ%ﬁﬂﬁ% YR TR FdgR GaTﬁ'-‘aWI
3. A person is biologically male or female or intersex. /WWWW@WWH@WWWW% |

4. A social identity with characteristics placed by society for each biological sex. / Ui W3 Rt P T THIS gRT SIS 718 fARIarait & I1y Teh oIS
TEgM|

Correct Answer :-

« A social identity with characteristics placed by society for each biological sex. / Ui S T & foTT TAN gRT 718 TS [ARSaTal & 1Y Th FHISIH
TgaH|

26) What are the three components of the educational process? | Qfere ufspar & 9 geo T %?
1. Teacher, Student and Education /QT&W, EJF| 3?[?&[&”

2. Teaching, Learning and Practice / e, Sifdrmy 3R 3Ty

3. Education ,Teacher and Books / TRI&fT, fRiefes GHTW

4. Direction, Instruction and Skill /ﬁ'ﬂﬂ, 313%-‘21 GHT@W

Correct Answer :-

« Teacher, Student and Education /QT&FGF, EJF| GﬁTﬁT&ﬂ

27) A teacher who pressurizes his/her student to take his/her private tuition lacks in which of the following code of
professional ethics? / T® 1&g/ i 3UA BT H Aol A a1 & fore garg s1aar/ s 8, Fafifaa & 3 i s e
Afawar B few ifgar st w22

1. Attitude towards students /@'I?ﬁasuﬁf Gfﬁ-@ﬁl
2. Attitude towards colleagues /Wm%ﬁ 3{&-@%
3. Attitude towards society/Wé"qﬁf fo'-'\-lgﬁf



4. Attitude towards profession /W%Uﬁ arfirqﬁ

Correct Answer :-

« Attitude towards profession /Wé’“qﬁf Gﬁil?{ﬁf

28) CANCELLED

Who describes mesosystem for how the different parts of a child’s microsystem work together for the scale of the child? / fram ey &1 aftfa frar f
5T TR T2 & AEHIRRTH & A= 4T T 91y 7= F Wha & g S Bd 82

1. Erikson/ SR&G

2. Piaget/ piE]

3. Vygotsky/ CIEUIREA]

4. Bronfenbrenner’s / S-SR

Correct Answer :-

« Bronfenbrenner’s / STTHTaI=R

29) Kohlberg’s theory dealt with: / aﬁs‘«uﬂ%ﬁ@aﬁmﬁa%
1. Morality/aﬁw

2. Perception / YRUIT

3. Cognition /317:1'1-([%
4. Interaction /Fﬁ[

Correct Answer :-

. Morality/aﬁﬁﬁﬂ

30) Which of the following is the most effective way to create interest for learning in a student? / frefataa - | ﬁ T ﬁmﬁ SIfeRTH %ﬁm 3T ﬁm
FHA BT qaY TUTH TEpT /T 72

1. Show relevance to their future / I HiAY & %I'Q Ui ﬁ@'l:ﬂ

2. Activity based learning / Tfafafd smenfya sremae

3. Theory supported learning / Rrgia smeria siera=

4. Teacher centered approach for learning/ ST & o SreaTges St ufaf

Correct Answer :-

« Show relevance to their future / 3 méﬁﬁﬂmﬂﬁw G |

Topic:- General Hindi (L1GH)

1) Treft g1y g, AT g1y ST

TS 3HdAT YP ST e HT At IS
wrdt g1y e

&9 Ag-Taaral A wia ot Rt wew wgrar
IR 7 1 DS udd = = goman

T AR al ar v &, aEE A S,
Tt g1y g

e U E F @1 AgTd & FT ST
T R 3 @R B 3 Ut @R FAT
ST g o T & aredt s g oft U
S Wi T Y Wi ST ¥ A,
wrdt g1y e

T A T e d wavr o wire @ gha
TP 9 T et df oRf o o @ e



TP A T i o 7§ o7 A @ uda

TP q U U o 59 99 § &+ @ e,
areft g1y sgr

ATE | 59 ATt el Al AT o &
Sigogughrm A ad s gAR a@ A

F9 a9 Ag-d & R F T Goad 3 weiy

BTY TETHR DI Al 30 WU BT A, i ..
IWT U B UgHR ) IR WM aTd YR HT Ii¥ gaTsu|
T TF 9§ TP 1 i A gfean a9 o 37
1. Ugls

2.9_T

3. P}
4. 9q%

Correct Answer :-

2) @i g1 FeT, Wl §1Y wEr

TS P U TG e BT S IS
areft g1y Sgr

&9 Agaaral 4 99 i e Har Jern
IR 7 71 DS ydd = =1 gpran

T 418 df YaT v &, agE A RS,
It g1y T

A U F B @1 Agd & FT AT
Fad IR B TR Y o o=t @R FA
ST g Wt T B et s g oft U
3=t Hifrer T @Y wivTe AT T A,
a1t g1y TG

TP & T i | werT o e @ efan

TP | U i ot oRf & o € S8

TP A TP i o 0 o7 goar & wda

TP A T S o 50 99 § Y A e,
It g1y T

AT A 59 AT FeTe At @ oa |

o sagRa A s ST eAR ga &

P9 TP AgTd & R A A Sraaa T wieiy

BTY FTHY BT @1 U FUA) BI a=, I ...
ST U B UgHR T IR 9 9T U= $T Sk Iarsy|
= fPad e @ 9grl A e Yt o Wt 82
LD

2. fpari &

3. WPR &

4. DEIqH Y TG &

Correct Answer :-

« WeIdh AVl &

3) It g1y T, It BTy T

TP BT YP ST e HR 9t IS



It g1y T

T Ageaaral A 99 ff frae wew seran
AR 7 71 BIST ydd = =1 goprar

T 916 A UeT Y &, TE A IS,
a1t g1y TG

Aed Ut oE B @1 AgTd | T ST
Fad IR B WIfoR $ 9@ ot @R wAn
T g Wt T B el oo g oft T
3o+t wifere Ha Ft wire sruAT T AW,
It g1y T

TS § TS S o) SavT o ST @ ghar

TP ¥ T i at ot o o @ e

TF § T i ot 7€ 57 Fpar § uda

TP 9§ T i o 5 9w § v @ e,
a1t g1y TG

ATE | 59 AT el Al AT oe |
Sigwgughrm A s s gAR 9@ A

F9 qF Ag-a & R F T Goa B weiy

BTY TTHY T &1 U Ju= BT iy, I ...
ST THiY B Ug] R TP S 9T IR BT Sk gargl
T B A TR F e ol B wierd) ver €2
1. 71 R g

2. I Sff

3. QMR

4. T SR &1

Correct Answer :-

4) W gry g, Wt 7Y T

TSP 3HdAT YP ST e HX 9t IS
|t g1y T

&9 AgTaaral  oid Wt e Hew Tera
IR A 31 BIST dd 3 2 geerar

T4 AR al YaT v &, agE A S,
Tt g1 ST

g U E B @1 AgTd & FT ST
Fd R 3 iR B o St @R Fr
ST g Wt T B et s g oft U
3=t ifSrer T Y wivTe Sy T A,
a1t g1y TET

TP | T A a Favr o o § g fan

TP ¥ U it ot oRf 9 e 3 W5

o § TS U ot WS 99 9ol & udd

TH A T S o 50 99 § 7 A e,
Tt g1 ST

A | g AT FepTe At e Sa @
Sigogagham AT s gaAR ga &
P9 qF AgTd & R F A Sraad 3 ool



BTY TGN DI @ S0 HUHT 1 awdiy, et ...

ITF U B UgHR - IR AM 9T YR $T I«i¥ a1y
U: ViR AT Hed A Fif =) swan?

1. YT TR YT a1 Tg |

2. i T SUP A

3. BT BT YW TR IUDHT a Tt

4. WHRI W IUHT I gt

Correct Answer :-

. e IR TS I AR

5) ®di g1 wer, W g1y wEr

TP APdT YP S e FR 9150 IS
ardt g1 ST

¥ Aegdaral A o9 WY raes $en germn
AR 7 1 BIST ydd = =1 gprar

T 91 ol UaT R &, IgHl A G,
aredt g1y ST

g U A B a1 Agd & FT AT
Fd R wifeR B 3 ot @R FRAT
T gt T @ At orue g W T
3=t Hifrer Tw @Y wivTe SraeT T A,
ardt g1 ST

T QU@ FAd oY FeaRT 9 S @ gfear

TF A U et ot T o e @ S

TP A TF A At 7€ 99w § uda

TP | TP it df 570 99 | 3 o e,
aredt g1y ST

ATE | 59 AT FeTel Al A 5 |
SigsEgFmATmianemaad

F9 % Agd & W & I ad 3 oiviiy

BTY T TP BT A1 U= FUA BT a4, I ...
IUded THiY B Ug} R IS SI19 9T YR BT Sk aarggl
U: 39 Biaal § ‘HeTaer {5 Fe1 T 82
1. 3RTSIP qd! BT

2. 3 TRIS ASIGR! &1

3. YUY 9% G I Y

4. Fg1d 781 X aTel 1

Correct Answer :-

6) et g4 SerHT, Irf 71U T

TSP 3HdAT YP ST e HT At IS
a1t g1y TG

W AegAdaral A oid WY frae? sew Termn
IR A 31 BST Udd 3 2 georar

T ARt a1 B &, TgH A I,
ardt g1 ST



e Ut FE H @1 AgTd & FT ST

Fd R 3 @R B 3 Ut @R FT
ST g ot T B et sroe g ot T
3o+t Hforer w9 $1 Hire sruAT T AW,
aredt g1y ST

T A U e 6l ey o Sire @ g

TP A v frdt ot ot o o @ S

TP A T i o 7§ o7 A @ uda

TP A T i |l 3= 9§ o7 @ R,
Jrf BTY T

ATEt | 59 ATt el Al AT ST &

W po g gRT A ST S gAR 96 A

F9 % Agd & W & I dara 3 oy

BTY TTHR BIA Al 30 WHT BT A, el ...
IWT U B UgHR - IR AM 9T YR HT Ii¥ garsu|
U: 39 Biaar § il A 1Y 9eM B el G haet 3R IR 82
1. g ARl §

2. M S Y

3. 91 Ao 9

4. YT G

Correct Answer :-

ok

7) w4t g1 ST, W g1y wEr

TP AT YP S e HR S50 SoT
Irf BTy T

9 Ageraaral 4 99 ot e wew agrn
AR 7 1 BIST ydd = =1 gopman

T 418 df YaT v &, agEI ARG,
It g1y T

g U O B @1 Agd & FT AT

F IR wifer B 3 ot @R FRAT
ST g Wt T B et s g oft U
3=t HifSrer T @Y wivTe SraeT T A,
Irf BTy T

TP A T A | HerT o e @ efan

T Q7o R d ol o wren @ S

o § Ue fd ot WS 99 o & uda

TP 9§ T A o 5 9w § 9 @ frw,
It g1y T

AT | 59 AT FeTet Al A §ia |

o sagRa A s ST gAR ga &

Fd % Agd & WY & I aad 3 oy

BT FTHR BT A1 U FUA] BT a1 ...
ITT U FI UgH 1 IS 91 aTd U= $T Ik Tarzu|
U TS Hal Y ST e R gt IS § T aredd 32
1. FH A P e

2. 9 DI MST TR @

3. 3B TG B TEANT HAT



4. R IF g BT

Correct Answer :-

« 3PHd TSH B TaT BT

8) Wt g1y W, W §1Y T

TS 3HdAT YP ST e H 9t ISHT
a1t g1y TG

&9 Agaaral 7 99 H e Han Jern
IR 7 71 DS Udd = =1 gpman

T4 418 af YaT v &, agE A S,
It g1y FerT

A U F B @1 Agd & FT AT
Fa IR Y wifer B 3 ot @R FRAT
ST g Wt T B wmedt s g oft U
3=t Hifrer T Y wivTe SryAT T A,
a1t g1y TG

TP A T i | HerT o e @ efan

TP ¥ U it ot 9T 9 of1a 3 ¥ew

TP A TP i o 0 o7 gear & wda

TH A T S o 570 99 § Y A e,
It g1y T

A1t | g A1 FHepTdl A e S @
Sgosagha AT T gAR a9 &

F9 qF Agad & R A A Sraa T ooy

BTY TTHR DI Al 30 FUHI $T Ay, il ..
IT{T U B UgHR T IR 9M 9T U= $T S} Iarsy|
A e Hi w3 A S T e A e T ot ara 1 E 32
1. T Yoy @

2. THM Hiad! BT

3. THTH W TAR] BT

4. HETAHT 3T SRIATRRN B!

Correct Answer :-

« TP 3T SRR Bt

9) Tt g1 e, |t BTy weT

TP APl Y S e H g1 SSMH1
It g1y T

B9 AgTaaral A o9 Wt Rraer Hew Tera
AR 7 71 BIST ydd = L1 goprar

T a8 Al o e 3, gEE A W,
wreft g1y Sgr

e Ut oFE B @1 AgTd & T ST
Fa IR B WIfoR $ 9@ it @R S
T g Wt v B Wl s g oft T
3o+t wifere w9 $t wire sruAT T A,
It g1y T

T A U e dl ey o SiraT @ g



TP ¥ U it ot oRf 9 e 3 ¥

TS § TS Qo WS 99 ol & udd

TH A T S o 50 99 § 7 A e,

Tt g1 ST

A1 | g9 AT FepTe At e S @

Sigo R AT gAR ga &

Fd % Ag-d & W & I ad Y wieliy

BT TP B A 3T [U=1 P oy, A1t ..

ITIT U B UgHR - IR 9M 9T U= $T S«i¥ IaTsu|
uR: e g Wt U § Il e Bfd 6w g & U Sat w1 22
1. 3RS &) Temnedt & ft o v wEE it difgd @

2. J9% g& GAM §

3. TEH! TP oI T §

4. 3T 3R 91 & g 3T

Correct Answer :-

« 3T Y e § 9t o e IuE Aifta-difsa w@
10) Wt g1y ST, Wit BTy S

TP AT YP I e FR g0 IS
Tt g1 ST

W Aegdaral A o9 WY et $ew Termn

AR 7 X1 BIST Udd = =1 goprar

79 918 A Uer e &, TET A I,

a1t g1y TG

Aed Ut g B @1 AgTd & T ST

F R 3 wifeR B 3 St @R FRAT

3T g oft U @ |t oo g oft U

SO wT T B HiTe ST ¥ A,
|rdt g1 ST

TP & T i dt Pawr o+ Sfran € ahan

TF A U et ot Rt o o @ S

TP | TF A a7 99w § uda

TP A T e oY 579 99 § Y o e,
|t g1y T

ATE | 59 AT el Al @ 5a |

o gagRa AT s gAR qa &

F9 qF Ag-a & R F T Goa B weiy

BTY TTHY T A1 U= JU BT T, I ...

ST THiY B Tg} R 0 S 9T IR BT Sk garggl
T Fd R B WIFR BV Beo [Faa! W a1 T 8?2
1. I BT

2. 3T Y

3. oTeff Bl

4, SAflERI &1

Correct Answer :-

11) arft g1y g, Areht g1y g



TP BT Y S Fd H g0 SSHT
aredt g1y ST

BH AeTaaral A oid Ht fras? Hed Teman

IR A 31 BIST udd 3 2 georar

T AR ol Yar v &, aEE A S,
ardt g1 ST

AgTd Sl g B T AgTd A T ST

T R 3 @R B 3 Uit @R F
ST g9 W T § wredt e g oft v

3o+t wforer w9 $1 Hfvrer sruAT T AW,
aredt g1y ST

TP | TP A d vt o o § g fan

TP 9 T et df oRf o o @ e

TF & T A o € 99 A § udd

TP q U d af 59 o9 § R @ e,

1 BTY T

AT A g9 are Frere At @ s &

o sHghm A T TN EER I &

Fd % Ag-d & Wi & I ad Y sy

BTY TTHR BT Al 30 WUT BT iy, i ...
ITT U B UgHR - IR AM 9T YR HT IiX a1y
T AR A X1 BST udd 3 2w g w1y 3 T6 7 w81 32
1. THaT1 b AT ol 1 4t e o e §
2. Tehd1 & AW BIS 61 el

3. 7dd g Sl 3

4. TG T AT
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. Todl & g foredt 1 +ff gopran o e 7

12) wrdt g1y qor, Wit g1y Sgr

TP AT YP S e HR §Ig1 SST
1 BTY T

¥ Agdaral A o9 Y e $en dermn
AR 7 1 BIST ydd = =1 gprar

T A1E a ar v, Tge A WS,
aredt g1y ST

g U F B a1 AgTd & FT AT
Fad IR B TR Y o ot @R Fn
3o g& Wt T B uredt s g oft U
3=t ifrer T @Y wivTe SrueT T A,
Irf BTY T

TP QT i | HerT o e @ efan

T A TP ot ot okt & oirar § T

TP | TH A At 7€ 99w § uda

TP 9§ T A o 5 99 § ) @ frwm,
aredt g1y ST

AT | 59 AT el Al A 5 e |
SipogagFa A sgAR a0 &



Fd % Agd & WY & I oad 3 oy

BT TTHR BT A1 U FUA BT a=, Id ...

ITYT Ui BT UgHT 1 US 9 9Td U= $T Ik Targu|
UHH: ...30d U WITR FAT FEHY BT T Fg1 I8l 82
1. $B el gl =g

2. Ryh oo uftaR & for Bg=d e

3. 30 R=deRl & g s

4. S facRMEl & fu &1, ore 30 fw
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« & faRul & fu =, o oA fu

13) Wt g1y ger, Wit gTY Ser

TP APl Y S e H g1 ST
It g1y T

T Agaaral A 99 ff frae wew gran
AR 7 THI1 BIST Udd = L= goprar

T a8 al Yo v &, gEE A R,
areft g1y Sgr

Hed Ut @ A @1 AgTd & T ST
Fa IR B Wifor $ 9@ It @R FA
T g Wt T B Wl e g oft v
39+t wifere w9 $t wire sruAT T AW,
It g1y T

T A U e i ey o Sira @ g

TP ¥ T i at ot o ofa @ e

TP | TP At df T8 99 g § uda

TF & T A o 5 99 § 3 o e,
a1t g1y TG

ATET | 59 ATt el Al AT e &
Hipogughamdsnisnemaad

F9 q%F Agd & R F T Goad B weiy

BTY T TR T &1 U= Ju=) BT =iy, I ...
IWT U B UgHR ) IR WM 9T YR HT Ii¥ garsu|
U UH-9-UF WS Qo faeT Pt gwa 82
1. HHRT

2. fpam

3. 98

4.7dq
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14) 1t g1y Fer, Trft g1y dgrT

TP AT YP S e HR §Ig1 SoT
1 BTY T

T Agaaral A 59 Wt frae weu qgrn
AR 7 1 DS ydd = =1 gpran

&9 918 A U e 3, TET AW,



It g1y T

A U F Y a1 Agd & FT AT
Fa R 3 wifor B o st @R Fr
ST g Wt T B et s g oft U
3=t Hifrer T @Y wivTe SraeT T A,
a1t g1y TG

TP | TH At dt Fawr o o § e

TP ¥ U it ot oRf 9 e 3 W5

TP A TP i o I o7 gar & wda

TH A T S o 50 99 § Y A e,
It g1y T

A1t | g A1 FHepTel A e S @

W po TR A T 3 TN FEAR T

P9 TP Agad & R A A Sraaa ool

BTY TETHR DI Al 30 T $T ANy, i ..
I U B UgHR T IR WM 9T U= $T Sk IaTsy|
U=: P P garfae ru- fPera &) SO {59 TbR 30 a1 & B qdhdT1 82
1. ST Tl 3R Fgantt v d

2. TIPS TET

3. gUAU G 9

4. GoT-UTS TR
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« 3o Tebal AR Ggart g A

15) Wt g1y ST, Wit g1y g

TP HdT YP ST fd 2 dt IS
It g1y T

B9 Ag-Taaral A oid Wt Rraer wew Tera
AR 7 X1 BIST ydd = =1 goprar

T 916 @ UeT Y &, TET A I,
a1t g1y TG

Hed Ut oE B @1 AeTd & T ST
Fad IR B WIfoR $ 9@ it @feR FAn
T g Wt v B el oo g oft T
3o+t wifere Ha $t wivre sruAT T AW,
It g1y T

TP A T U dl HerT & wira @ o

TF A U et ot Rt o o @ S

TP | T A ot 7€ 57 Fpar § uda

TP 9§ T i o 5 9w § v @ frem,
a1t g1y TET

ATE | 59 AT el Al @ 5ia |

Sigp g AT sngm aa &

F9 qF Ag-a & R F T Goa B weiy

BTY T THR T A1 U= JuA BT T, I ...
ST THiY B Uge] N TP o9 9T IR BT Sk 9argyl
we: g @ aret ok o @ Hidl $19 et B arar 82
1. Y YHH

2. S ule 7GR



3. g9 A=A
4. JS-TERS
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« DS ufesHl Horgy

16) 7. $Y Hig T8 et

Y UFh AHT A 39 Bt e T omelt | AT 3R iy Y vier F AR IWHT FAUET & U gHR Al HR S RARATaT Y8 8 1 R A1g_ & WA 3R 99 §9R WA €, 981
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... 1ET, R o 38T AT| $HT 3 HIAT BT AR GSTI 79T Yo @ | b ganfteea o5t ok gas! ara A T4 97| 9197 YD1 - 'JRRT AT AT 91 HIAde a1 HY2' .. A1 f&
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IUYT T B UGHR 1 Y Y Y= BT IR T3¢

U 1Y T YA gU Bel, =18 o118 § Ugelt Ia g3t =i Tf a1y

1. Uig4

2. St

3. g
4. e
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17) 7 Fw ot Hiq 7 s

T UFs AHT A 34 FHI Hie T omelt | AT 3R i Y v F AR ST FAUET & U gHR Al HR < RARTaT Ye e 8 1 R Arg & ®E 3R 99 §9R RA g, 981
Mgt A B 1.7, TP F iR fpT gt ornft TgY.... AT SipA T | 7 A & IBT Siep o1 311 e, e T 3meit 91y A -\l W Fae Ad §Y BT T @ 7Y
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3R TS F U 31 B TP 41| HIAT YUATY T B 190 B1 a187 A1 F 2 T4 F1 Wiear #Y 3R Y1 FHa1 H3P ga1 § JuT| 3R 9871 HIAT THS T - ST ofdl-GR H1 8,
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SUGH T B UG i Y Y YR T IR I3y

Y ST U fhae Fraa 3t arga e
1. ST @

2. A B

3. SR BT

4. PUAD
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18) .. THIPI Hig 81 3ME

Y s TpT H IQ Pt +fig T arreft | AT SR iz 1 iy F AR SHH U &b U AR W3- 1R &S RFfRETar TEar 8 | RN agA & RE 3w 99 g9k WA 8, a8t
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FEd 3, ORI 19 FIT Fg B gard 3, Riw ot 7 9 g7 s f wen 9
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TR TR YT U1 H §, T7 ITe-oTIaTT B 3172 $IAT 36 HaTd U SEHaT, ST TH WAl &b oaTe o T99 I8 I Sl Bt ger g dar g
IR TR Y UGB 2 T T U BT IR TS

Y "GRERT AT HIAT 8 I HIES U1 HIq2' T Uy fHe famar

1. 99



2. WIE AR A
3. ST ATeS A
4, FeHT HIferp =
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19) 7. XA P g e et

Y U Th | I Hft g T el | AT SR a1 Y iy F AR IS HAUS F U gHR M- R & RFfRETaT 89T § 1| Wik a5 & WH 3R 9 g9k M 8, 38t
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ST T B TGHT A1 IS T U PT IR qarsy

wy: et HTe B iR | TR I g H ST

1. e

2. ABIER

3. 9eiq

4.
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20) .. FATHI A TET M|

Y U b B I/ Hft Hig T et | AT SR arfeiRr Y iy I AR IS HAUET F U gHR M- 1R & REfRETar Wwar 71 R ana & wH 3R 99 g9R RA 8, 98t
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WY: 98 YD1 grgar U, T¢ Fafafd wer A arq @t o 70 9t iy ardt @2

L RFRH

2. “Urer 7T

3. B HHH

4, ‘UG AHH
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21) .. PATHI A TET ML

Y b TpT A IQ Pt +fig T arreft | AT SR anfeimr 1 viy & U SHH U &b U AR W3- 1R &S RFfRETar TEar 8 | RN g & RA sfew 99 g9R WA 8, a8t
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TY: TR A8 & R {5 RIM R S $ =g o ol 82



1. 3 H
2. ST R
3.IRH

4. IR W
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22) 7. AT g TET ML

Y Uep b | I Bt g T el | AT SR arfeiRr Y i F AR IS HAUE F U gHR M- 1R & RFfRETaT w9 § 1| Wk a5 & WH 5w 99 g9 A 8, 38t
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IUY TR B UGH -1 TS T T $T S qa1g¢l

U AT 3R R P 7Y F AR IS FIUST & U a1 o Tgar U2

1M RR A

2. 33 W

RRRH

4. A R
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23) .. FATHI A TET M|

Y Uad HHT B 39 Bt g TEY amelt | AT 3R anf+ir Y iy & AR IHS FUE! F Uy AR N3 R & AR TEar 81 W a5 & ®E 3w 99 g9k 1A 8, 98t
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1. 90 U HhH H

2. TH A

3. SRR a

4. gf o
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. UGS qHHE |

24) 7. B! g T S
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UY: T BT DI 3R TS B T G 2
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2. oA

3. PATBI B

4, 8dl
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25) T HIAT DI g T AT

AT Uep Th H I Hft Hig A el | AT SR arfeRr Y iy AR ISP HAUE F U gHR M- wR & RFEfRETar Wwar 71 R ana & WH 3R 99 g9 A 8, 38t
Hie @ omeh §1..7, TP & SiR fhY YUt ol wEd... HEA St A1 G WS F IHD BYp [ IS o, g T A G A FU-WIe W FHIE A 5 IS TS ¥ AL
B AE B T HRAT A Fe1 - T1 =g B 1eY mett, & Sirera o, anqy g o e 721 et a1 A Rivme germ g¢ &t - 1€ e & vgelt Ia gt g =18 ot ' wvwm go=m
=TedT 4T % T Urear 7™ A 91g B R g7 B 7Y T | F12 $AUE B U 6 8T @ THRN T2, 1Y B TN TR A | Th ST T Il g REa- e Bt ok W amar
SR RIS F U T FR FF TAT| HIUT JUATY FA Bt a1 AT8 T F2 7 TGP W1 1 3R YU=1 SO % ga1 T JUT| 31 9871 HIUT TH 74T - TR Al-GR $T1 8,
... TEY, Rydh a ¥eT AT T 3T AT B SR YT 741 YA @1 R Gaieram &t ok gare! are A T T 9197 BT - 'JRRT AT $IUT @ U1 HIAAG I B . A1 o
AP 1Y TE F T, 3T 3M1ef 379 F Uex & 919 7 e Tt B= U are & S Hare a1 81 919, A & AR 6AT1 81 21 39 | & §9IR U3 €, §9IR A $gd 2 1. e arg sk
FEd 3, O 919 FHT g R gard 4, Rw s A g Ra s f wer ok

SRR STY Y AR PRU-FIT FEd A | G 64 W eerht $3a & - 570 Y HuL... A1 § 1 7, T2 S 7 & ST B3| R ...

TRRT TR YT WRIATH 8, 1 ARG B 32" ST 3 qaTd W SFHamaT, ST WX TaTal & 9aTd 3o 0T 98 T S &) gy a1 dar gl
UG T B Tge i IR T U BT e Iy

Y ST GATBEM $1 3R B °rer | Tar T

1. O 91

2. HYH 1T

3. fieft =t

4, 3D A1
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26) T HET B! g TE Mg

Y b TpT H IQ Pt +fig T arreft | AT SR anfeimr 1 vie & AR SHH S & U AR W3- 1R 7S RFfRATar TEar 8 | RN g & RE sfew 99 g9R WwRE 8, a8t
g Y M 1., 1P F iR TPy gt wiift WREY.... AT S T | Y A B IS S o1 3811 e, g T airelt> 91y A HFUu-\@Ie W FRae Ad §Y ST T ¥ Ay
P U FId §Y HIAT A FT - U1 g S 7Y e, & sirvar om, arqy g oft g = emwht, a1g A RRe germa gu et - =3 w1e & ugelt 7a gt i 98 ot war ga=n
TTEaT AT 3 7T "OIReAT WpT & a1g 31 ot T 1 3¢ T § T2 FAU F U &S ¥gl @ GHRI HT.. A IS e TAAR T | Teb F1 TR Tl g RATTa-Hiae #t 3R & smar
3R RIS F URT 3T B FF 4T | HIAT YUATY T B 190 B a18 @1 F 7 19 1 Wiean &Y 3R YY1 FHa1 H3% ga1 & JuT| M 9871 HIAT THY AT - TR Jal-GR $T1 8,
Jre.... TEY, Rt Ja ¥eT U1 T 3G FIAT B SR YT 741 Y @1 R Taiera #t ok gares! are A Tem 11 9197 BT - 'TRRT 19 $IWT @ U1 HIAYG I 62 .. A1 o
TP ATY TE1 F 916, 31T 3t a0 F UgR F 91 A et Wel % U Ward & a1 gard fhar 8 1 a1g, A d 81 HA1 81 @1 3 7N & IR U §, T9R A Fed & .. A sig ek
FEd A, URT I1g HIAT g B gard A, Riw oft A 9 &7 o € w1 ok SRR 919 g9 FIA-BIE Fod A1 G 6 R et F3d A - 510 B FA., A0 F 3 8, I S

T H 3¢ B TR ALY

TR UR YT TR H B, AT A -FIRIENT Bt $R2* AT 37 YaATd W SR, W1 T ATl & Fard o THY 98 I S 951 GoT a1 dar 21
ST T Y UeR F12 IR T TR 37 SR IS

UY: HIAT A A1 A TgT 1 76} 31 B a1 B2

1. 3RTH

2. g

3.9

4, gt

Correct Answer :-

27) 9.5\ $1 g 7T amwtt

T U AP A 3@ Bt At T8 omelt | AT SR i FY iy F AR S HAUS F U gA N3rH- 1R g RAfRETar W 81 Wik agH $ ®A 3w a9 geR
R g, 87 Fg @ ot 319, T F ofeR Y Yo uSt orvht wd...: Heen St | A we H SHd B 4 IS P, g TEY ety @rg 7 Fu-we ) A
A §T YBT THS A TYA B WG HId §Y ST A Hgl - ‘Tg1 g ot 7T 3wy, & sireran o, arqy g oft g =1 ameht, a1g A RARe gawmd gy &l - 1§ wg &
Tt I g ~fig T el 1 HIAT YT Argar o1 fF A¢ ORear gH § 9 H1 ot 73 B v Tt § |1 FUE F U oS 89T 8 AR 2., A1 P W TEA
| T T TR AT g3 RAFA-HAT B 3R F a7 R IR F U ST $R TP TAT| AT JUATY $ $I 10 B A9 T F 3 91 ) @fean #F 3R gy
AT PP g1 § G| 3T 97| HIHT TH T - S SAI-GR HT 2, Fre... &, Rids Yu a7 411 T 3/a H3un 5t 3R Y11 ga1 Ya=t o | fpr gannfhar &t 3R
AP TTA A T T 19 A YBT - FRT A1 HIAT § AT HIAAS U1 HIY?' .. AT & 9 1Y 3693 & 91, 3t 31eft I & R & 919, Rw @a w7 v Tara & Sn
m%cn%l'mam?ﬁﬁwmﬁi?laﬁm%wﬁiiaﬁnmﬁ%%l..ﬁaﬁmmﬂ%ﬁ,aﬁwmmﬁwwe},ﬁiﬁﬁ#aﬁ‘—rmiﬁ
Pl 3R 3RFR a1Y dl §HRM BIH-HIT Bgd 4| G 61 W eeentt F3d A - g7 A 60,71 ¥ 31 8, T2 5 74 | 3¢ HJTI g9 AM...1°

'mwﬁmmﬁé,wﬁ-amaﬂahwmwmwmﬁmmzQﬁmﬂiméﬂwaﬁmﬁmaﬁlﬁrwﬁm%l



U] TR Y UGN A IR Y YR BT I« FaTFe|
UY: 1P & iy e wr ot

1. Wit

2. Bl

3. g
4. gsgs!

Correct Answer :-

28) 7.5\ HI Aig 7Y syt

A Uad g B IQ Haft g LY simeft | AT 37 anf+iwr Ft iy & A SWS FuSt & U g et uR o REfETar Year 8 1 R a1gA & A iR 99 geiR
RM Y, 767 e ot 3Tl 31, T F sicw Y Yo ust orft wgdl...: S S a1 ¢ Ao H SuP Sl ot IS v, g 78 st a1 A Fu-we W wae
A §U BT THS | 7Y B AIF Hd §T HIAT 3 Bl - T8 g it 7 mehl, & srevar om, arqy g oft e 7 smohl, a9 RRe germa g¢ #et - =18 wrg &
ugeht I1d ot A &Y aimeft 1 HAT g Arear o1 i ¢ et Wt § arg Y ft T Y vy ot f e S0 S U ¢ Year & RN | A1 Y Md TEE
I | TH P T=d AT g3 REFA-HAT B 3R F a7 R SRS F U ST HX T AT HIHT JUATT $o $I 100 B A6 @ F 3 919 1 @fear &Y 3R gu=r
ST B g1 § AT | AT TT| BT THY 7T - TR SAI-GR P 2, ATa... 18T, Rics G 357 411 T 39 a1 o3t SR 71 591 Y @1 b o™ ot ok
AP TTA A TS AT 19 A YD - 'FRT AT BIAT § YT HIAAS U1 HIY?' .. AT 137 9 A1 389 & a1, 31 31eft I & uer & 919 A ia Wa w7 v Tara & Sar
Fare foman 1 9T, T dt BT AT E 31 I AN P FIR HE €, §9R 9 e 3 .. 919 F wga A, 9 919 99 $7 R gana 3, Rig o 3 9 7 s
PET 3R 3RFR T o) T HIH-HIH Hed U1 G 67 W feeentt o3 A - 579 A S, H 1 8, a1 St 7 # 3¢ $Y| §oIR ...

TR TR TYTA WRIET H 8, 97 - goRIEGNT T 3R HIAT 59 JaTd W AT, SRT! TH HaTal & SaTd S THY I8 39 Sl S ger s aar gl
I T B Ugd -1 TR T YR BT Sk a1y |

WY i g e T 3 g 87

1. BRYA

2. 3R

3. 3fUSh

4. fo=t

Correct Answer :-

29) 7.5\ HI g T amwtt

AT yed Tp § 39 ot e T aimelt | AT SR izt Y iy F O IS HAUET S U gARM AR g R W 81 R @5 & WA 3Read 9d geR
RA Y, 76 e o 3T 31, T F 3iaw Y Yo gs ohit Agdl...! S Sp @1 ¢ AP A IHP Shep ot IS e, Hig 78 3> A1y A Fu-@e W wae
A §T BT THS | 7Y B AIF HA §T HIAT 3 Bl - T8 g Wt 7 smeehl, & srvan om, arqy g oft e 7Y smohl, o193 ReRe germa g¢ #e1 - =S wig &
gl I qat g TEY et | ST T ATt AT b AT UReAr Wbt § a1g @t ot g #) iy el @ | $ud S urd o8 TedT § eR /.. 919 B W TREM
| TH T TR TIIAT g3 RAFA-HAT B 3R F a7 ok aRTHE F U ST $X T TAT| AT JUATT $ $I 19 B A6 @ F 3 91 ) @fear #Y 3R gy
U1 B g1 § AT | T TT1 HRAT THY 7T - TR S[AI-GR T 3, AIa... 18T, Rich G 367 411 T 39 Heen 3t SR G371 5971 Y @1 fbr ganfeam ot ok
AP TTA A TS T 919 YD - FRT A1 HIAT ¢ AT HIFAS U1 HIY?' .. AT 137 96 A1 389 F a1, 31t 31eft 7 & ueR & 919 Rew Wa % v Tara & Sar
HaTe fraT §1 191g, At IR HRA1 &1 B 1 3 AN F GO Ye €, FIR W Fed ¢ 1. 91g S wed A, 9 91g $99 $7 FR gan 3, RwH A v @ e §
Pl 3R 3RFR a1 dl §HRM HIH-HI Bed | G 61 TR Geert! F3d A - 579 A 60,71 ¥ 31 8, 192 5 74 & 3¢ HRTI goR AMW...10

TR TR YUTA WRIET & 7, A1 - goRIENT T 3R HIAT 3 WaTd W AT, SRT! T HaTal & Sa1d Sd 0 I8 399 S & g1 s dar gl
ST TR P UGHR A1 TR T U HT I« Iaq158|

" fra 1 9 a1y Te7 & a1g o 5 a9 a1 A fw @a &7 wara fwan?

1. 1A HEH SR 1 A

2. 5T AP TR

3. 91 fo SR gag &

4. 91d o SR ameft <7

Correct Answer :-

. gid fo 3R amef 3 Y

30) 7.5\ HI g T amwtt

T U AP A 3@ Bt i T8 el | AT SR i Y iy F U SWH HAUS F U gA N3 1R o RAfRETar W 81 W agH $ ©E 3w 99 geR
R &, 357 e o ot 319, T F ofeR Y GouSt orvht Td...: Heen St | A A H SHd B e IS e, g TEY ety @rg 7 Fu-we w e
A §T YBT TS A TYA B WG Hd §Y BT A HgT - ‘Tg1 g St 71T 3meehy, & sireran o, arqy gy oft g =1 ameht, a1g A RARe gawmd gy &l - 15 wg &
gl wrd gt g 78T el ' AT YA "redn o1 % ¢ e W § 91g &1 Wt T F iy e | T AU F U 6 I8aT & SHRT H1.. a1 BYS Wd TREAR
| T T TR TIAT g3l RAFA-HAT B 3R F a7 R TR F U ST $R T TAT| AT JUATT $ $I 10 B A6 T F 3 91 ) @fean #Y 3R gy
AT PP g1 H GHT| 3T 97| AT THY TT - S SAI-G R HT 2, AT, T, Rids Ju a7 411 T 3a H3un o5t 3R GoT1 g1 o=t o | {hR grnnfhea™ &t 3R
AP TTA A T T 19 A YD - FRT AT HIAT @ YT HIAAS U1 HIY?' .. AT {37 9 A1 389 F a1, 3t 31eft I F ueR & 91 A Rew @a w7 v Tara & S



Tare f6ar 31 91g, AT dF A HAT 81 81 3] A P §OIR Y8 8, TR A9 $ed o 1... T 919 $RAT Fed A, 9 91 HIHT $8 B gard A, Rig oft F 9 7 1w B
BT 3R SRR 919 Al TN HI-HIH Hed A1 G 61 W et $3d A - 519 I ST 8 F41 8, 9192 o) 7 § 31T HiY| §oIR AM...0'

TR TR TYTA WRAET H 8, 97 NS RIGRT T 3R HIAT 39 JaTd W AT, SRT! WY FaTal & Sa1d G THY I8 399 S S ger s aar gl
I T B g 1 TR T U BT Sk a1t |

UY: HIAT A THS | FIT A% fopan?

1.l

2. YA

3. PO TR

4. TTTSY

Correct Answer :-

Topic:- General Sanskrit(L2GS)

1) .
&A1 fafId-gechar I FEpdeuleai#d ATed-

1. ©
2.$ :

_ JEhATRTNPASIE:

, hAraRcAfedr

Correct Answer :-
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AT A o1 faAreiy Fgchl 3oAfa: Sl gdd | o dhadl @
HFCH, 3o el fagtoem: g Rud A davdd &: hdeld 330N,
3USd T dVH FEIONH 3UTEONH I YR fquR0T A el 3edd:
7RI | ¥ JFCI fEsyd: 31T Udced: AU Re: | dfeAd f&a
TETSCEANT JaH FYATARA(GTIE) 89 aRd: Ao fAafads | ad
feeTa e JrfaTar: YA THeTAE | URUTHAT: & Slels &’ feet
ITANPRISCEIRT e RE T Togad ufd UNo Hdd |
HTEA 3SSTPRIhH UGheAl: d6el The GaNT HaH | Toeaheled
TehedT T FFATd A 306l AedNea=A 3fd | FauAd Tehee:

YAH: SeUAGHE:  Usdlfdd: | Ysdlfalddd  del  3ed &
AAHTACIEATITH  $[heTTH, A | of-FEAdrT:  3MTehorererd: faudid
Tegdd IRcATRYUTET Jehe TFINRAT: Gfadi: $ega-faemT: yearfad: |

A IUIAr AHAG IFedR&Td TT: FANBGANT: FAgAETan: 3Tde |
d T AIH: SIS, Tellde] Uleged:, AlShel dlfoled: T |
HedRNEIAET T>dold  dicleddAgIcd: falld | afasel @ cdl ?Gﬁ‘
faeor 3ue fafAfAd aegeal ufasel | dededl dlegaar: HEIATATT
gerehcl: | Td YhRUT Alogensl: TegdolldX ITHINA: | FHECIS: dal
Ulegehslld 3add Uogdd UGi-lald $adlel | HAaEd Udd ded
Uehdll 3TTeIeh: Taery: |

e el TErdy ARSIy 3/ wA1fed-

| ATSehel dIfdlea:
2 - ] -
| Tefde Uiess

Correct Answer :-

4.
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AT A o1 faAreiy Fgchl 3oAfa: Sl gdd | o dhadl @
HFCH, 3o el fagtoem: g Rud A davdd &: hdeld 330N,
3USd T dVH FEIONH 3UTEONH I YR fquR0T A el 3edd:
7RI | ¥ JFCI fEsyd: 31T Udced: AU Re: | dfeAd f&a
TETSCEANT JaH FYATARA(GTIE) 89 aRd: Ao fAafads | ad
feeTa e JrfaTar: YA THeTAE | URUTHAT: & Slels &’ feet
HANPRISEEIRT I ReAEd Togad ufd Uo Hdd |
HTEA 3SSTPRIhH UGheAl: d6el The GaNT HaH | Toeaheled
TehedT T FFATd A 306l AedNea=A 3fd | FauAd Tehee:

YAH: SeUAGHE:  Usdlfdd: | Ysdlfalddd  del  3ed &
AAHTACIEATITH  $[heTTH, A | of-FEAdrT:  3MTehorererd: faudid
Tegdd IRcATRYUTET Jehe TFINRAT: Gfadi: $ega-faemT: yearfad: |

A IUIAr AHAG IFedR&Td TT: FANBGANT: FAgAETan: 3Tde |
d T AIH: SIS, Tellde] Uleged:, AlShel dlfoled: T |
HedRNEIAET T>dold  dicleddAgIcd: falld | afasel @ cdl ?Gﬁ‘
faeor 3ue fafAfAd aegeal ufasel | dededl dlegaar: HEIATATT
gerehcl: | Td YhRUT Alogensl: TegdolldX ITHINA: | FHECIS: dal
Ulegehslld 3add Uogdd UGi-lald $adlel | HAaEd Udd ded
Uehdll 3TTeIeh: Taery: |

Hed eI AogA Y Tfd INUTH 37T ¢ fafgaa-
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SRIET ARPTART: 3l FefAife Ffed | dY SAAHAeaid Jgecaqor
FATTAATET |

RO T T ArmeT: ufafed Jur- fJfer sdcr: | Ty
R & Saeed acle e | AT R & Taed #r fJerafd |
gfdsrRIAERISTT Faed R T yareid | eIdeid fadevee
s REIRPAART: #ged Ydae, fdead | dadcdiedl f§ #Aea:
T AHAdHATERTTS d TR | Sodled TG Siigeaey w@ qATd,
Afe degeT: | UUe WY FJoUCdes  SREASTET | carrHeielr Ry
ufsAhelit falal @ #afd | ks ded @ aelfdl 3gaan
TORIFIT H 39el glehfd |

S Faeiidetd RATATIRT: @of | eRRuRs@0T fariTganfe
farafed | shrsrr IRt asTereEr, Afe aeell sy | gera:
gfgror: 3T NRURAH Fafed| TEIT: TPIATGATAASIEAT JATE ATeT
f& caraa: | 3o f& §dY 39y Ao sidfd, ar=olhR]
UGATEHAN Hafd, rdereriFaed add | caramaedee, ﬂ?'N-FI?\aTm
2T ﬁflm?r earuer: | caraERie e fRicd udg ofeTd, Sfiad 3caesd
yaelt #afd, R e T Aafd | ARAYSSIT T HeJof: HAIOT
IO ABeAT ] Terafd | 3ial R & W Fareeay
fohecaqd I e |

ARTALNETT WM: TIH I o d-

3IRE&TRd. IR 39

Z_ﬁﬁaaams‘q'
3'afr'c:ra?:|ms—q'
, TTeSId |9 59

Correct Answer :-

AT eamder s
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¢H UG §dl gfcd waAr &fa T&a: |
dEATGAT o goacdl AT =T Al galsaeid |

AT FocoadTRERYdT AT AFTEAeadl |
e} e Iy | e}

a7 doMaIGUsATUSIRT AT AdILTHAT |
I SEATIAMSPT AT 43 FeT i |
M AT 91T TREGAT 97Tl IS aTeT |

3TAT &dl gfca U&a: &fa-

eellehl gfdcar srenfaféseed Teaed qgeacal FIaad -

Foolca eI AT AFRIGL A Sicared

aIUTed STl T Hehell Tde@T: @oll: FAGTATH_ |
31T faTel YA TITachedl Wed W

AT $Tacile HHIAA $ITT AR Hd: ||

AqTpfc: Welfd i Fel o frel
faeai™ g 7 T TcsToharia & |
A qaauar @el Addie
PTel Delled JETET TAT & |

IdT s AR -



4.

Correct Answer :-

.“gp

UR=de afScar TR AgHcR FIId -

SRET AR 3ihifl Tl dfed | A ey #Agccaqor
TATAATET |

REIRTTR e T e ufafed Jur- [3f sdc: | Taedr
RN & Shaeed e @l | 3 R & Taeel &7 fJeafa |
UfdArRRIAERISTT T R T yareid | eIded fadeveme
s REIRIAART: #ged Ydae, fdegd | dadcdiedl & #Aea:
FHIfd FhATATIITSd FIeAUR| Sofdled, U Sligaaay Ford grafd,
Afe FeeleT: | UUe HYd ool RSeS| carraeiell Ry
ufsATcrel faval @ #afd | AUchesi a@ed o erfdl g
TORIFIT H 39el glehfd |

Sl Faeidetd IITATRT: @of | RRuRs@oe fRrieganf
faenafed | shrsrr IRt asTereEr, Afe arell sy | gea:
qfgror: 3 RIRAH Fafed| TEIT: TPATGATAHASIAT JATE ATeTe
& T | $cﬁ%ﬁqmmﬂﬂﬁﬂaﬁ QAT TIhT
USATEIN Hafd, ardereriFaed add | carmaediee, z‘lm-—crc"lmtmﬁ
T ﬁflm?r ATUGT: | Lo Rcd UG ofsd, Siidel 3caeed
vyael #afd, R e T Aafd | ARAYSSI T HeJof: HAIOT
IO HBeAT ] TeTafd | 3ial g & R Fareeay
fohecaqd T T |

IATHET THAY 3eLM: ITARE-
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NREATELTH

9ollh! UTScar 3refAfesced y9aTed ﬂﬁdgrdi qead -

Asolcareifl I1q AW e STTcared

aIftIsd Fi¥Aas T Tehell facT: dell: FABTATH |
37ThTRl faTel UaTd WaTdcepedl Tdced W

AT T9dle HETAAT eTTT =T el: ||

AdTpfd: Welfd i Fel o el
faeai™ g 7 ¥ IcThar Far |
AT qaaoar Tel Aadie
HTel Belfed TOIET TG &

AT hel Welfed ?



eellenl afScar JrNfATEseeT ey gFccl A -

ASSIcaF R A ARG e STIcdTed

aIoIed $HiVhasl T Hehell TAGAT: dell: TABTATH |
3TTepel faYel VAT Werdcehcdl Ted WY

AT $TaciE HHARAT $TCITT AR He: ||

AdTpfd: Belfd wa el o el
faeaf o 7 ¥ IeAhari dar |
A qaaudr @el Aadie
Tl Welfed Joued J4T ge: |

: 9 JTHIRN TATT ?
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AT A o1 faAreiy Fgchl 3oAfa: Sl gdd | o dhadl @
HFCH, 3o el fagtoem: g Rud A davdd &: hdeld 330N,
3USd T dVH FEIONH 3UTEONH I YR fquR0T A el 3edd:
7RI | ¥ JFCI fEsyd: 31T Udced: AU Re: | dfeAd f&a
TETSCEANT JaH FYATARA(GTIE) 89 aRd: Ao fAafads | ad
feeTa e JrfaTar: YA THeTAE | URUTHAT: & Slels &’ feet
ITANPRISCEIRT e RE T Togad ufd UNo Hdd |
HTEA 3SSTPRIhH UGheAl: d6el The GaNT HaH | Toeaheled
TehedT T FFATd A 306l AedNea=A 3fd | FauAd Tehee:

YAH: SeUAGHE:  Usdlfdd: | Ysdlfalddd  del  3ed &
AAHTACIEATITH  $[heTTH, A | of-FEAdrT:  3MTehorererd: faudid
Tegdd IRcATRYUTET Jehe TFINRAT: Gfadi: $ega-faemT: yearfad: |

A IUIAr AHAG IFedR&Td TT: FANBGANT: FAgAETan: 3Tde |
d T AIH: SIS, Tellde] Uleged:, AlShel dlfoled: T |
HedRNEIAET T>dold  dicleddAgIcd: falld | afasel @ cdl ?Gﬁ‘
faeor 3ue fafAfAd aegeal ufasel | dededl dlegaar: HEIATATT
gerehcl: | Td YhRUT Alogensl: TegdolldX ITHINA: | FHECIS: dal
Ulegehslld 3add Uogdd UGi-lald $adlel | HAaEd Udd ded
Uehdll 3TTeIeh: Taery: |

dgbcdlchglUld-L ST HicHTdsioleiH Ud #dld-

&l +TRYUTH
1.

gﬂﬁ+%¢m
2.

l{_dl‘b+cdlch°clUld-|ﬁ

3.
IS AT+ 3R YUTH
4. D -
Correct Answer :-
T+ 3RV OTH
. e | ~
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AT A o1 faAreiy Fgchl 3oAfa: Sl gdd | o dhadl @
HFCH, 3o el fagtoem: g Rud A davdd &: hdeld 330N,
3USd T dVH FEIONH, 3UTEONH I YR fGuR0T A, el 3edd:
7RI | ¥ JFCI fEsyd: 31T Udced: AU Re: | dfeAd f&a
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feeTa e JrfaTar: YA THeTAE | URUTHAT: & Slels &’ feet
HANPRISEEIRT I ReAEd Togad ufd Uo Hdd |
HTEA 3SSTPRIhH UGheAl: d6el The GaNT HaH | Toeaheled
TehedT T FFATd A 306l AedNea=A 3fd | FauAd Tehee:

YAH: SeUAGHE:  Usdlfdd: | Ysdlfalddd  del  3ed &
AAHTACIEATITH  $[heTTH, A | of-FEAdrT:  3MTehorererd: faudid
Tegdd IRcATRYUTET Jehe TFINRAT: Gfadi: $ega-faemT: yearfad: |

A IUIAr AHAG IFedR&Td TT: FANBGANT: FAgAETan: 3Tde |
d T AIH: SIS, Tellde] Uleged:, AlShel dlfoled: T |
HedRNEIAET T>dold  dicleddAgIcd: falld | afasel @ cdl ?Gﬁ‘
faeor 3ue fafAfAd aegeal ufasel | dededl dlegaar: HEIATATT
gerehcl: | Td YhRUT Alogensl: TegdolldX ITHINA: | FHECIS: dal
Ulegehslld 3add Uogdd UGi-lald $adlel | HAaEd Udd ded
Uehdll 3TTeIeh: Taery: |

Tegh &I TT The T I fFATId Aed AT
ATH SEATET -




¥ 3R W AT da: W & a7 Fgcasolal
#afd der vd efafa-

, S

5 JHICe:

, GG

, SPNIGET:

Correct Answer :-

9ellehl ufacar srenfaféscey weaey ?_;sgagcdi A -

Aoolcar e AT AT o FIcared

IO H¥ATT T Fehell TT: Felr: FABTATH_ |
3TTRTel ﬁg?»r VAT Gardcghed] U] T

AT $7dcilg hegeudl ST TRl o ||

SaTpfd: ol aid dol o ool
faeaniy sig & T FceAhary dar |
A JITIHT W] T
PTel elfedd JeTET T4 T |

311%33?3?’1?;[?



Yeliehl afScar reNfAfsery Teaed e YIId -

AT AT ABTAW e STAcATed

qMuIcd HiYdaTe T Heholl [deAT: Hell: TAGTATA |
37ThTel faYel ST Wartacehedl Wi W

AT $Tdcile HHARNA HCITT AR Hed: ||

AqTpfcl: Befd w1a el o el
faeaIi@ siq & o IeAhara dar |
AT qaaadr @el Aadie
PTel Belfed JIET JAT & |

HT oid Belfd ?



3. <
4, ¢

eellehl gfScar srenfAfésery Teaea AgdHca FIA -

¢TH UG gdl gled AT W&ifa aa: |
dEATGHAT o7 godedl AT Al AT gdrsadid Il

T FerGegdTRERUde AT AFIEAeddT |

T FOTEGUSHTUSAHRT AT AT |

qT SEATAASHIS AT &3 HaT Yiore |
ar A 9T EREICT HITaH IERINEIEE M|

Qellehs A “EBIEACl” STd Jaeg TIANUIeHAR-



u=ae gfdcar g2 ‘\f;agagcdi oI -

SRIET ARPTART: 3l FefAife Ffed | dY SAAHAeaid Jgecaqor
FATTAATET |

RO T T ArmeT: ufafed Jur- fJfer sdcr: | Ty
R & Saeed acle e | AT R & Taed #r fJerafd |
gfdsrRIAERISTT Faed R T yareid | eIdeid fadevee
s REIRPAART: #ged Ydae, fdead | dadcdiedl f§ #Aea:
T AHAdHATERTTS d TR | Sodled TG Siigeaey w@ qATd,
Afe degeT: | UUe WY FJoUCdes  SREASTET | carrHeielr Ry
ufsAhelit falal @ #afd | ks ded @ aelfdl 3gaan
TORIFIT H 39el glehfd |

S Faeiidetd RATATIRT: @of | eRRuRs@0T fariTganfe
farafed | shrsrr IRt asTereEr, Afe aeell sy | gera:
gfgror: 3T NRURAH Fafed| TEIT: TPIATGATAASIEAT JATE ATeT
f& caraa: | 3o f& §dY 39y Ao sidfd, ar=olhR]
UGATEHAN Hafd, rdereriFaed add | caramaedee, ﬂ?'N-FI?\aTm
2T ﬁflm?r earuer: | caraERie e fRicd udg ofeTd, Sfiad 3caesd
yaelt #afd, R e T Aafd | ARAYSSIT T HeJof: HAIOT
IO ABeAT ] Terafd | 3ial R & W Fareeay
fohecaqd I e |

UFTF_[ 373 79T ammﬂTafrg Aledsiara-



TENEEA FTAITT UreTH]?

qauGriey

ECFIICIGIW
2.

3HIUCTIET
3.
4 ITIAYETIET

Correct Answer :-

KR AR =)



u=ae gfdcar g2 ‘\f;agagcdi oI -

SRIET ARPTART: 3l FefAife Ffed | dY SAAHAeaid Jgecaqor
FATTAATET |

RO T T ArmeT: ufafed Jur- fJfer sdcr: | Ty
R & Saeed acle e | AT R & Taed #r fJerafd |
gfdsrRIAERISTT Faed R T yareid | eIdeid fadevee
s REIRPAART: #ged Ydae, fdead | dadcdiedl f§ #Aea:
T AHAdHATERTTS d TR | Sodled TG Siigeaey w@ qATd,
Afe degeT: | UUe WY FJoUCdes  SREASTET | carrHeielr Ry
ufsAhelit falal @ #afd | ks ded @ aelfdl 3gaan
TORIFIT H 39el glehfd |

S Faeiidetd RATATIRT: @of | eRRuRs@0T fariTganfe
farafed | shrsrr IRt asTereEr, Afe aeell sy | gera:
gfgror: 3T NRURAH Fafed| TEIT: TPIATGATAASIEAT JATE ATeT
f& caraa: | 3o f& §dY 39y Ao sidfd, ar=olhR]
UGATEHAN Hafd, rdereriFaed add | caramaedee, ﬂ?'N-FI?\aTm
2T ﬁflm?r earuer: | caraERie e fRicd udg ofeTd, Sfiad 3caesd
yaelt #afd, R e T Aafd | ARAYSSIT T HeJof: HAIOT
IO ABeAT ] Terafd | 3ial R & W Fareeay
fohecaqd I e |

JeuTC: T AIiH 3¢ #1afd-

21) AN f
frfafaay FgaRyeaARed-




FHURY:

2.
X IR EICE
dcasy:

4, 2
Correct Answer :-
TG

2

2)
U=de Ifocar 92aed ﬂsgdjrdi T -

SRET ARPTART: 3 TefAife Ffed | dY AATIT Agecaqor
TAAATET |

HREEaR e o e ufaes I [{f odca: | waed
R & Saaeg die= gl | FAHT MR & TaTa A1 Toafa |
ufdsmRmeadAeRIsi vt RN Ta gdrRd | eIdsd e
TN REIRPaRT: #Agcd gdde faead | dagceedl & #Area:
T AhedAfEsid TR | od Ta Siidaaay Fard arafd,
Afg dellel: | Ul WMeel FoUCdele  AIASRT | carmaRier &
afsATcehelT fatal & #afd | 3Uchlesi A6l o celfd | 379aan
TTOTRIFAT | 37T9el giehdife |

SaeTeI{T Taeiideta SIRITATIT: Tof | SRRGRs@0E fariTganter
fasnafed | shrsrar argelt asTererar, sfe areell seaarly | gera:
qaferor: 3T RRURAA Fdfed| TEId: Th{AYGcATAHASIAT FATE AToled
f& s | goof it §dY 309y IFqddel #7afd, Lar-foIsrg
AGAIHIRT #a(d, TrIeRIFaRT aed | cgrm@ediere WRddaawRied
T g earver: | IRy fed uaiE @#d, Sfias 3caesy
yaRl afd, SRR Fee T Aafd | SHIHYSCI T Hefol: FATOT

IO Ahedel S TeTaid | 3 AT & T Tareeay
forawaqE W= T |

yfafead scaey AagaasA: taAred-



SR o R
, fea vfa =7 &

Correct Answer :-

Yol gfSear HlfAfEseey veaed A Yaad -

e[ U gdl gled o#f &fa W& |
JEATGHAT T goded! AT Al AT gdisaedid Il

ar gwazr%gwsuuqm T AHTEATod T |

T SIOTIRGUSHTUSAR AT ATTHAT |

I TEATIAATIIISATH: 3 T AT |
AT AT 91 TEGAT $9TadT - QISeTgardeT |

JYREREdel §Hq¢ﬂlﬁdd| UY-

, FAGTeI&HT

Correct Answer :-



=i ufdaar Ueaed ‘\gﬁdj,cdi g -

AT A o1 faAreiy Fgchl 3oAfa: Sl gdd | o dhadl @
HFCH, 3o el fagtoem: g Rud A davdd &: hdeld 330N,
3USd T dVH FEIONH 3UTEONH I YR fquR0T A el 3edd:
7RI | ¥ JFCI fEsyd: 31T Udced: AU Re: | dfeAd f&a
TETSCEANT JaH FYATARA(GTIE) 89 aRd: Ao fAafads | ad
feeTa e JrfaTar: YA THeTAE | URUTHAT: & Slels &’ feet
ITANPRISCEIRT e RE T Togad ufd UNo Hdd |
HTEA 3SSTPRIhH UGheAl: d6el The GaNT HaH | Toeaheled
TehedT T FFATd A 306l AedNea=A 3fd | FauAd Tehee:

YAH: SeUAGHE:  Usdlfdd: | Ysdlfalddd  del  3ed &
AAHTACIEATITH  $[heTTH, A | of-FEAdrT:  3MTehorererd: faudid
Tegdd IRcATRYUTET Jehe TFINRAT: Gfadi: $ega-faemT: yearfad: |

A IUIAr AHAG IFedR&Td TT: FANBGANT: FAgAETan: 3Tde |
d T AIH: SIS, Tellde] Uleged:, AlShel dlfoled: T |
HedRNEIAET T>dold  dicleddAgIcd: falld | afasel @ cdl ?Gﬁ‘
faeor 3ue fafAfAd aegeal ufasel | dededl dlegaar: HEIATATT
gerehcl: | Td YhRUT Alogensl: TegdolldX ITHINA: | FHECIS: dal
Ulegehslld 3add Uogdd UGi-lald $adlel | HAaEd Udd ded
Uehdll 3TTeIeh: Taery: |

rgeha] TUATIAT UG AGTH 37elel hld-



_ Tepaiaeivore

Correct Answer :-

) gferfaeiy:

eellht gfScar IrNfAfsery Ieaed YA AT -

¢fH UG §dl gfed gl w&Ifa T&a: |
dEATGAT o7 gededl AT aF AT gdrsadid Il

AT FocoradYRERYTT AT YT oaar |
2 o R | 2

T AUMGIGUSHATOSIRT AT LAAUSIHAT |
I SeATIdIERTsafe: 49 Far gfedr |
M AT 9T I 97T fo SIS anTeT |

UY: o §odcd:-
1. :

HIIGA:

2. ©



3TTAET:

3.

faeatard

Correct Answer :-

29) .
Yol gfSear elfAfiseey et Agecel Yaad -

e[H UF gdl gled g#Af T&fad &T: |
dEATEHAT T goded! AT aF AT gdrsaeid Il

T PocoGdINEREddl AT YFTEATeaddT |
o o o | e

IT JIUMaIGUSHTUSIRT AT QATIATHT |
I FEATTYAASHICATE: < FeT gfoiar |
AT AT 91 TEGAT $9TadT - ISeTsardeT |

cdl Td: Her gieidr-

qsdﬂngdﬁnch‘i:
1.

STEATY IR

qsaﬂngddlﬁ‘lz

3



SEAIde g

4. 2

Correct Answer :-
SEATCY AN

Correct Answer :-

3THTRIFA:

Topic:- Social Science (SSC)

1) Consider the following statements and identify the right ones.
i. Warm currents bring warm water from polar regions to the equator region.

ii. Cold currents bring cold water from equatorial regions to polar regions.

FrafifET sy W R #% ok F6 $37 3 vgam

i. W uRTE, gt et | ymuRdg &5 a@ W oe @t {1
ii. SUST YRTY, yHeavdty &=t | ydia &= 9% o1 9ia ardl 81
1. ii only / $ad ii

2.1 only / $ad i

3. None of the statements / S0 9 H1S gl

4. Both the statements / SUE &I &Y

Correct Answer :-

« None of the statements / _s"Tﬁ I Tﬁ—ap :féT

2) Who remarked that "We must put an end to planning from above. We must put an end to priorities being conceived and decided at ethereal heights,
far from ground realities"? /

ﬁwﬁv‘gﬁmﬁw%ﬁﬁmmaﬁmm&msﬁmmwmﬂ:ﬁmﬁmﬁﬁ R, T 3R Fruifea &t 7€ wruftrmarsit 1 i HeT
e

1. Rajiv Gandhi / Joia et
2.Shri S. K. Dey /N TH. %. 3
3. Vinoba Bhave / faiaT 4@
4. Medha Patkar / T8I T

Correct Answer :-

« Rajiv Gandhi / IToi1g Tieft



3) Which of the following is correct about Indus Valley Civilization? / ﬁ'rg 1t Fwgar & fawg A Fafafaa # S = T-rbpf %?
i. It had well planned cities / 33¥ gHaifoE 2R A1

ii. It had elaborated drainage system / Eﬂﬁﬁﬁ frerit T ot

iii. The most common motif found on Indus Valley seals is unicorn. / ﬁi‘c}j Tt Ft HS?‘[ T U1 9 9T T AT Ui T R arar JraR H
1. All are correct / T Tgt §

2. Only ii / Had ii

3. Only iii / %ad iii

4. Only i/®ad i

Correct Answer :-

« All are correct / T &t &

4) NITI Aayog stands for ./ i 3w (NITI) &7 faega = v H
1. National Institution for Training Information / AR E'E(TE@QT:[ BR aﬁ'ﬂ SHTHRA

2. National Institution for Transforming India / Wsé IR BR EA':HEF) i 3'%'5”
3. National Institution for Transition India / TRIFq SXCICIRM WIR TR Sfean
4. National Institution for Take India-forward / TRI-Td SWICIRM BR <& SIS BRAS

Correct Answer :-

« National Institution for Transforming India / ERE] LS R BR ‘g’mﬁlﬁn g

5)  Match the following:

1. Humavyun A. Humayunnamah
2. Gulbadan Begum B. Badshah nama

3. Aurangzeb C. Alamgir

4. Abdul Hamid Lahori D. Insan-i- Kamil

T & fBaa o1

1 g A. gAML AT

2. deldg= daTH B. dIGaE =ATAT
3. e C. TeHdAR

4. 3fecel gHIG eBHT D. ScHIH-U-hITHel

1. 1-A,2-B,3-C,4-D
2. 1-A, 2-C,3-D,4-B
3.1-A,2-C,3-B,4-D
4.1-D,2-A,3-C,4-B
Correct Answer :-

« 1-D,2-A,3-C,4-B

6) Famous Women ruler Chandbibi of Ahmednagar fought to protect her kingdom against: / S[gHGTR P Ul Uieen TS Tigald! A 3 I P &N F
fire 579 R wrord adh ot

1. Mughals /qm@

2. Nizam forces of Hyderabad / 8exmaTe @t o 31
3. Adilshahi force of Bijapur/ §ieTqR & snfea=met a1
4. East India Company /3% $f&ar doit

Correct Answer :-

« Mughals/qTa

7) The purpose of field work in the teaching of social science is: / AT a7 & Rrervr ¥ Wies ad &1 3=y H



1. To take note of historical events / ﬁﬁw ger3 R &= a:ﬂ
2. To gain direct concrete experiences / Y& 3N STHT YTt HRAT
3. To enjoy the sight seeing | TRICRIA BT 3fHg AT

4. To have more socialization / 3@ THTSIHROT BT

Correct Answer :-

« To gain direct concrete experiences / UIE& 3 STIYHT YT HhRAT

%) The approach that is very useful in organizing the content in history is: / 3fagTa & fawa [ #) Fafua w31 F g ot eRFIT aga Swari g, ag
|

1. Concentric approach / e ‘e’l@ﬁw

2. Topical approach / Wf@ﬁm

3. Spiral approach / gt Ef@fblfUT

4. Chronological approach / WTW?@W

Correct Answer :-

« Chronological approach / m Eical

9) In which year was the battle of ‘Koregaon Bhima’ fought? / ‘®R7Iig T Ft aers vy af o g A2
1. 1718

2. 1818

3.1796

4. 1857

Correct Answer :-

. 1818

10) _ strategy in which the government encourages the local production for domestic consumption to reduce the dependency on imports. /
T8 WA R TR mard R i #) o9 739 3 e @ud & R R Sdre &1 widied st 21

1. Export promotion / fafd Tad

2. Tariffs / UR[eh

3. Import substitution / 3T WRITI

4. Quotas / Pler

Correct Answer :-

« Import substitution / AT TTTRATAT

11) NAFED stands for ./ NAFED T areqd 2l

1. National Agricultural Cooperative Management Federation of India Ltd. / AT Tl eRd HIsiRfed BASTHc Theve 3iTh 3fear fafies
2. National Agricultural Cooperative Marketing Federation of India Ltd. / AT Tidreerd HIsTRfea T T e 3T gfear fafies

3. National Agricultural and Commerce Management Federation of India Ltd. / ERIE Q‘Jﬁw Q@' Wﬂﬁ\?ﬁ? TheeH 3Th E'%TIT fafies

4. National Agricultural Confederation Management Fund of India Ltd. /
BT Tieb kel DI HAwHE Bs 3iith 33 ferfires

Correct Answer :-

« National Agricultural Cooperative Marketing Federation of India Ltd. /A= Thideard dHisiiiRfed Arh i e oifws gfegan fafies

12) Student gathers information or knowledge by forming the association and working in team is known as: / T Y BT T HIP SATHBRY

1 I 3HG1 Hd & 3R 1 & B1d ed §, T8 59 © A o1 o
1. Problem-based learning / AT - TR SR

2. Community-based learning / JHGTd-3{T TR ST

3. Collaborative learning / HETﬁTI'CI;Uf SffeRTH



4. Experimental-based learning / T 3emRa iy

Correct Answer :-

« Collaborative learning / Ww ST

13) What is the approximate distance between earth and the moon? / q@ 3R G & S Bt @ A fopat 82
1. 38400 km / 38400 et

2. 384000 km / 384000 T,

3.250000 km / 250000 febHT

4. 25000 km / 25000 feeT

Correct Answer :-

« 384000 km / 384000 farHT

14) When did Nadir Shah invade India? / TR 218 7 HRd W B9 MHHT fEHar?
1. 1766

2. 1749

3. 1759

4.1739

Correct Answer :-

. 1739

15) ‘Local Government’ is a subject which falls under ___ list./
WM WER 0F fAvgag e N e gt & siafa et 31
1. Concurrent / JHIAN

2. State / ST

3. Central / 51T

4. Local / R

Correct Answer :-

« State / IS

16) Social science as a discipline is a combination of: / g1 & T § Arfore fas= _ PIU®P RUIEE %I
1. Sociology, culture, evolution, economics / JHTSIRI, m, ﬁw, 3pfRIRd

2. Anthropology, sociology, culture, history / :jﬁsﬂ_{ HHTSIRIT, Wﬁ, gfag™

3. History, anthropology, science, psychology / gfag, ﬂﬁ?‘ﬂ:{, fagm, wefas=

4. History, economics, language, music / Sﬁ?m, G{W, HiyT, Tfia

Correct Answer :-

« Anthropology, sociology, culture, history / 'ji-aﬂlﬂ, HHTGIRIRA, {-Nq)lra, sﬁl@m

17) In which state of India is Intensive subsistence paddy farming practiced? / HIRd F fore Trou ® e fyafe & fore u= &t @< vafea 2
1. Punjab / GolTsl

2. Rajasthan / SR

3. Gujarat / SRTd

4. West Bengal / i3y e

Correct Answer :-

« West Bengal / qfy S



18) Who among the following established the Tattvabodhini Sabha in 1839 at Calcutta (Now Kolkata)? / fFrafafaa & A feaa 1839 & waear

(3T BIA®Tan H dwaalRAT TUT B RITYT B2
1. Devendranath Tagore / 3514 R

2. Kesab Chandra Sen / 399 3% 99

3. Ishwarchand Vidyasagar / $%R4¢ [qemamR

4. Raja Ram Mohan Roy / TSI I/ HigH 3

Correct Answer :-

« Devendranath Tagore / 33GTY SR

19) Ina society the goods produced are distributed among people on the basis of purchasing power. /

TP TuTS ¥ ITed axgai Y sy fdT &b MUR WR @il & e fafa frar srar 21
1. Planned / OIS
2. Socialist / FHTSIATG!

3. Capitalist / GoitaTdl
4. Mixed / A3

Correct Answer :-

« Capitalist / GoTaTg]

20) For teaching current events in social science, which activity is most suitable? / IR IEED ﬁ'il'l:l' o gHT geArei & Rrgfor * ﬁl"’{ P ot
Tfafaft e Juga 82

1. Source method / JId faf¥y

2. Play way method / | gRT fReqor fafdy
3. Debate / ATG-fadTg

4. Lecture method / SIREHT fafd

Correct Answer :-

« Debate / ATG-faarg

21) FFW stands for ./ ThTBSY (FFW) BT ﬁ'\ﬁﬂ' =q =
1. Food For Work / B8 R dd

2. Fund Formation Window / U8 IHR {8t
3. Foreign Funds Warehousing / BIRA ey FIRGIIRT
4. Federation for Financing Weaker sections / e iR qﬂ%ﬁﬁm CICEEENE]

Correct Answer :-

e Food For Work / 8 R 9

22) s the principal advisor to the Chief Minister on all matters of state policies and administration. /
Iy P Afaa iR U= F [ ATHE! R g @1 T aeeR gar gl

1. Joint Secretary / g GIEE

2. Additional Secretary / 3{UX RG]

3. Chief Secretary / B gfea

4. Principal Secretary / Ty g

Correct Answer :-

« Chief Secretary / J&H 9



is a body consisting of persons registered in the electoral rolls relating to a village comprised within the area of Panchayat at the village
level. /

o e ? formd e @ Hefta frafae Tmmafa) & teied safes wfa 8 € o) a1 R W darad ¥ 87 § mite g g
1. Gram Panchayat/ UTH UTId

2. Gram Sabha/ JTH IHT

3. Block Panchayat/ ESICRCEIRG

4. Tehsil/ TG

Correct Answer :-

« Gram Sabha/ qTH JYHT

24) is a programme which has been renamed as Nutritional Support to Primary Education.

/_ u g g, R wrufire fRien & fore vivor Seraer $ w0 A 9 fear mar g1
1. Health and Nutrition to Rural Poor / UTHIUT TR &) Ty 37k Trop

2. Mid-Day Meal Programme / &g WIS AT

3. Special Nutrition Programme / o=y giwor e

4. Nutritional Facility to Children / Sedi &1 UTS0T 1 gfaer

Correct Answer :-

« Mid-Day Meal Programme / H&T& TS IIorT

25) moved by Pandit Nehru, provided the underlying principles based on which the Constituent Assembly completed the task of

framing the Constitution. / tr%aﬁwmmﬁa%mw T, ﬁmﬁemﬁﬁ%aﬁ?ﬂ?ﬁﬁmﬁm St Ffqer= guT A "faer=
B TR A BT ST T b1, SHS YR W 7|

1. Bxecutive Direction / HTHHRY ﬁ%f&fr:l
2. Orders / 3MTGRT

3. Guidelines / feR-FdT

4. Objective Resolution / B%'SZU el

Correct Answer :-

« Objective Resolution / Ggﬁq RETY

26) is held when there are more than two candidates, and none of the candidates secures an absolute majority. /

_____ 9 ITaifora g1 8 919 &t & i Sufiear 81d €, ok 3 +ft Switear yof agwa w1 e wear 71
1. Second Ballot / f§cia AU (IHUE dere)

2. Third Ballot / Jaitg AU (Y8 §dC)

3. Preferential Voting / 3T Aag™

4. Open Ballot / &l HAUH (31U §dic)

Correct Answer :-

« Second Ballot / fgdfig wrams (ﬁwséaz)

27) Commission enquired into several aspects of allegations of abuse of authority, excesses and malpractices committed at the time of
emergency. /

_ TENT ATUTISTA F SR ISR, et 3R guia F ARGl & S uggsit I g B
1. U.C. Banerjee Commission / J Y. STl SN

2. Kothari Commission / SISRT STIRT

3. Phukan Commission / d ST

4. Justice J. C. Shah / =ITaHfd . t. =M

Correct Answer :-



« Justice J. C. Shah/ =TI . ¥, T8

28) Under whose reign was Upanishads translated from Sanskrit to Persian? / {51 SIa-oTa # SUHUE! 1 WRPpd & BRI & 3rarq b mar 41?
1. Jahangir/\_rIB\ﬁ'ﬂT

2. Aurangzeb / o

3. Shah Jahan / RgTgT

4. Akbar / {HsR

Correct Answer :-

+ Shah Jahan / RITE<Tel

29) The theory of experiential learning was introduced by: / waRE I &1 Rigia 371%? IRT U= foam T A
1. Carl Rogers / T o

2. Tolman / TG

3. David Kolb / S48 Plesl

4. Bandura / g

Correct Answer :-

« David Kolb / S8 Pleq

30) The most striking quality that a social science teacher needs to acquire is: / Y T fagme e & sfRmfita A & forw I
wEwqul o1 T 2

1. Frequently conducting weekly tests and assignments / e AT TRigon 3R &rmsqﬂ'c' ST BT

2. A feeling of developing democratic citizenship / AIBdIED ARG fABRId HR B HIa T

3. Conducting extra classes during holidays / @'@Th % SR ffafkad FHEMT ST HAT|

4. Control the students and maintain strict discipline / BIEICANERIECERGI GﬁT e IR I8 G T

Correct Answer :-

« A feeling of developing democratic citizenship / AIpdis ARG AR w3 &t Ui

31) The Reserve Bank of India was nationalized in the year .
YR frord do ST agasvoad _ # fparmaram

1. 1960

2. 1950

3. 1949

4. 1951

Correct Answer :-

« 1949

32) The Constitution of India vests executive power of the Union formallyinthe ./
YRAPHTIRYA _ # Sfivaie U I 39 91 srieR) e o) Hfigd sear gl

1. President /QTE'CI'%

2. Prime Minister / TTTHAT

3. Cabinet / EHSA

4. Council of Minister / H3T UReg

Correct Answer :-

« President / ?Tgfﬂ%f



33) Teachers encourage divergent thinking and allow students the freedom to ask their own questions and to learn the effective strategies for

discovering the answer. This method of learning known as: / ﬁT&W i S Bt 'Fh?\‘lT%T‘l’ Hd % GBT BE B I Uy ‘]\@ﬁ 33? I B @
P fore yyTd Turifoat Y Hem @) wddar od &1 e $t ug fafy 2l

1. Problem-based learning / FHRAT- 3TN SHfTH

2. Technology-based learning / MeNfret-anenia siftrrs
3. Inquiry-based learning / 3FAWUL-3TETRS T

4. Activity-based learning / TTfaTY- SR SifrTe

Correct Answer :-

« Inquiry-based learning / S~NUT-3TeMRd SHfATH

34) Defining the problem, analysis of the problem, collection of data, interpretation of data, testing hypothesis and making generalization are the

procedures in: / THXT BT TR BT, THTT BT fITATUI, ST PT HUT, ST Pt RSN, TRB YT BT UI&0T ST 3R IHTAHI0T
T & Srfyonferar §: -

1. Steps in discussion / it § =ROT

2. Problem solving / THXT JHTYTT

3. Project method / aRaSHT (Ch@ﬁ%') fafer

4, Supervised study plans / THfaféra sreag aerT

Correct Answer :-

« Problem solving / THIT JHTYTT

35) Which is the earliest script found in India? / HRd i tﬂé’ o 9Tel g yge fafy Cac kil %?
1. Aramaic / 3RTH®

2. Kharosthi / TWRISST

3. Greek / Wi

4. Brahmi /ﬁl@ﬁ

Correct Answer :-

e Brahmi/ an@ﬁ

36) Which of the activity is not included in inquiry-based learning? / Pi- fafafdr srawor smenfa siffrma & =wnftre w8 82
1. Written assignment / fafad sramgde

2. Field work / B1eS 9%

3. Case studies / Y TS

4. Group project / JHg PIRUIEE|

Correct Answer :-

« Written assignment / o1 Gd NS

37) Which of the following British Acts led to countrywide mass protest in India? / Frafiiaa & & fa fafewr siftfFam & sRor wRa # Szed wngfes
Yy fopar mrar?

1. The Press Act 1910 AD / 39 ififae 1910 St

2. Rowlatt Act 1919 AD /3dc Tae 1919 S5

3. Multifanged Defense of Indian Rules 1915 AD / YR Fad 1915 m&ﬁ@&ﬂq &

4. Indian Criminal Law Amendment Act 1908 AD / HRA TR B T=NeH A 1908 STt

Correct Answer :-

« Rowlatt Act 1919 AD /3de Tae 1919 S9!

38) Which ruler of medieval India was credited for construction of Grand Trunk Road? / 33 ¢ 31 % fAmivr &1 49 wereTeli= YR & 5 TR1® &Y
fea ar ur?



1. Aurangzeb / SRTSIE
2. Babur / dTleR

3. Sher Shah/ R-=§
4. Akbar / {HsR

Correct Answer :-

« Sher Shah /¥R-3ME

39) Which ruler authorized British East India Company to trade with the East? / 5 2o 3 fafes See e oeit 91 S & w1y R 3 & g

Siftrpd fpar?

1. Elizabeth 1/ Tferemay [

2. Elizabeth IT/ Tireey 1T
3. Elizabeth I11/ Tferemay 11T
4. Elizabeth IV / Tieremey IV

Correct Answer :-

« Elizabeth I/ Tferomay [

40) Which among the financial institutions prescribed Liberalisation, Privatisation and Globalisation model as part of stabilization and
structural adjustment mechanism during 1991? /

1991 ¥ IR = faxita TR & | fFam Ierier, fFeftewor 3R Atz ufor &) RIS 3R IRa-Tde JqrieH 99 &t
& wu # Fufa fear g

1. International Monetary Fund and World Bank. / &Hﬁ@qﬂwm 3R fay e

2. International Monetary Fund and Asian Development Bank. / H?R'f@'q Hal B 3R @I’EI'I% foerg s

3. International Bank for Reconstruction and Development and World Trade Organisation. / SR‘RTI'@H g?ﬁ‘rqfw IR fawT S iR fay =R e
4. World Bank and Asian Infrastructure Investment Bank. / fa% g 3R Q'fQ"I'CIT_sc LPRCFR Eqm G2

Correct Answer :-

« International Monetary Fund and World Bank. / &l-_vﬂ@qﬂm FY R Ay 9%

41) Which among the following skills is not essential for a social science teacher? / Frafafaa 3 @ $19 W Fia g & T fRrer
¥ ferg siferard 8t 32

1. Drawing, explaining, revising, reviewing / 3R , ORAT DRI, REIEE CRGIR THtem BT

2. Questioning, eye to eye contact with students, reciting / U4 I, BET Y 3 BT HuH CEIGIN ol BT
3. Precision, computation, measurement / qﬁﬂ@_dl WW, HIY

4. Voice modulation, eliciting responses, elaborating / 3HTdTS W\Ilgﬁﬁsﬂ:l, Uﬁ‘lﬁﬂ:ﬂq T HhRHAT, HRHAT hRAT

Correct Answer :-

« Precision, computation, measurement / U Q% S dl, SIUET, HJIY

42) Which type of help and assistance is required for a student who is extraordinary brilliant in the school? / e ﬁ@ STTYRUT

wfarHTRITeR BT & T fore UeR 9t HeradT SR HeaN @5t STaRaEaT gidt 82
1. Gifted classroom environment / TfTHTRITST &1 BT tl'l_aﬁ

2. Providing him enriched environment / 39 HHx aTdTaRuT Yald HAl

3. Provision for special education / TRy e &1 urae™

4. Providing additional assignments / sfafad mm HAT

Correct Answer :-

« Gifted classroom environment / TTAHTRITH &l EETII'@F[

43) Which type of weathering agent/process is more active in a limestone area? /



5T bR &1 ruera, HHE/afhar uh T TR 87 § iftre afpa gar e 2
1. Insolation / AHTdY-

2. Vegetation / FTf

3. Frost / JUR (1<)

4. Carbonation / BTI-CIHRUT (BIGR)

Correct Answer :-

« Carbonation / BT IHRUT (PTER)

44) An example for formative evaluation is: / Gﬁlﬁﬂﬁ@_ H\FQT@_'I DIIQIER0T %I
1. Monthly test / ATRI® TRI&f0T

2. Practical test / TGRS GH&0r

3. Teacher made test / FR1&% GRT URT&f0T

4. Rating scale / T W

Correct Answer :-

« Monthly test / TTIRT URT&f0T

45) Where is the Ibadatkhana, the place built by Akbar for learned men from all religions were called for discussion, situated? / 3/HaR GRT 9TAT
T RIF “ZaIa@r, Sgt Gt sifaat & fagr &1 waf & R g s o, ei 8?2

1. Fatehpur Sikri / dgqR R
2. Lal Qila/ 9ra foram

3. Sikandara Fort / Ryaaxt fan
4. Agra Fort / 3FRT &1 foa

Correct Answer :-

« Fatehpur Sikri/ BagqR Rie<!

46) CANCELLED

Which COP (Conference of Parties) resulted in the formulation of the Paris Agreement? /
foFa cop (uifdat &1 wwe) ¥ ulvumaaey IR qusia o1 fomfor gam?

1. COP 18

2. COP 21

3.COP 15

4.COP 23

Correct Answer :-

« COP21

47) CANCELLED

The Minimum Support Price was introduced in India in the year ./
I T URadqd _ Huwr e mar

1. 1964

2.1954

3.1974

4. 1984

Correct Answer :-

« 1964



48) CANCELLED

Who among the following is the proponent of ‘Pragmatism’? / Frafafad # ¥ «orqgRare” &1 s P %?
1. B.F. Skinner / Q?QCE PR

2. Albert Bandura / Wa@ﬂ

3. Adam Smith / USH f{ry

4. Soren Kierkegaard / TR PIHTS

Correct Answer :-

« Soren Kierkegaard / TARA BrvTS

49) CANCELLED

Who is the main exponent of concentric approach in curriculum? / UTGUshH -] '\q%’-a?f M'UT Cak:(C uﬁmma? ?bsl:l %?
1. Crowder / I8

2. Skinner / R

3. Bandura / EETT

4. Burner / %

Correct Answer :-

« Burner /&%

50) CANCELLED

Who took the initiative to convene the Asian Relations Conference in 19472 /

1947 # TRMATE Yau I QR RAw=a $136%) i $31 o1 ugd fra #12
1. Yugoslavia /T’h’i’?‘lﬁm

2. China /919

3. India / HRd

4. Egypt / o

Correct Answer :-

« India / HRd

51) CANCELLED

Who created Indian National Army (INA)? / HRWI IT8RT AT (METAT) H1 Fafor fes fowar ar?
1. Peshwa Bajirao / UzraT ek

2. Saiffuddin Kitchlew / SFeH fdag

3. Madan Lal Dhingra / H& oTd G17RT

4. Netaji Subhash Chandra Bose / =it JUIY T 18]

Correct Answer :-

« Netaji Subhash Chandra Bose / =IdToil JgHY T EIRS]

52) Chitrasutra of Vishnudharmottara Purana documents the following cave paintings: / fawesiR QR1vT & R & Faferfad 7t el &
3T &:

1. Elephanta Cave / Tefithel T
2. Nasik Cave / 7R w1

3. Ajanta Cave / 3fSidT [T

4. Bhaja Cave / HSIT 0T
Correct Answer :-

«+ Ajanta Cave / 3SidT i1



53) Which of the following is also known as Microlithic period? / fFrafefad ¥ & f&a aguraTol ®1a & = & 1ft 57 e 872
1. Neolithic / TquTSTOl ST

2. Paleolithic / qTSTOT STt

3. Chalcolithic / a&gT

4. Mesolithic / A& TTHT0T

Correct Answer :-

« Mesolithic / T& UTNTOl

54) Who hoisted the national flag at Gowalia Tank Maidan in Mumbai during ‘Quit India Movement’? / “YIRd BYS! 3’ %Eﬁ'ﬁ‘ja’é%
Tarferar & fam § e gy @ wewrar ar?

1. Jawaharlal Nehru / SfaTeRare 6%
2. Aruna Asaf Ali / 30T 3T (it
3. Mahatma Gandhi / #gTe it

4. Sarojini Naidu / SRS Ag

Correct Answer :-

« Aruna Asaf Ali/ 30l W 3t

55) Lines connecting places having the same barometric pressure is . HHTT %ﬁﬁﬁw adid T AT B \_rﬁSﬁ aﬁiﬁm a?ﬁ
gl

1. Isoheight / GH&dTE YT (HMSTETET)
2. Isohyet / THINT ¥ (3MZTT)

3. Isobar / THHR X@T (&I‘I%@ER)

4. Isotherms / THATY-X@T (MSHIIH)

Correct Answer :-

« Isobar / HHR G (SMSHIER)

56) Which of the following mountain ranges forms the longest mountain chain in the world?
/ Frafafea & & w19 @ udd g fay 3t gad @t vda gaars?

1. The Rockies of North America / 3TR 3RS & A Iol

2. The Andes of South America / Gf&0T 3T a'?ﬂ'c@ﬁ\_rf

3. The Great Dividing Range of Australia / m FI U fyureis udamran

4. The Transantarctic Range / UR-3{eThiee el

Correct Answer :-

« The Andes of South America / Gf&0T 3MARHT & Qué Sl

57) What is Chernozem? / I-1oTH & %?
1. Lateritic soil /mﬂa

2. Red and yellow Soil / @Te 31K Tielt Tar
3. Deltaic alluvial soil / Se2T mq@"l

4. Black Soil / STell JaT

Correct Answer :-

« Black Soil / &Telt gl

58) The Jhamarkotra mines of Rajasthan are best known for which among the following minerals? /

Wﬁmaﬁaﬁmaﬁﬁﬁﬁwmmmm%



1. Rock Phosphate /b BRUC
2. Lime Stone / AT YRR

3. Zinc / STl

4. Mica / YD

Correct Answer :-

« Rock Phosphate / AP BrEhe

59) The word “El Nifio” comes from which among the following languages? /
g = eg Frafafa & @ fra wrar @ forr mar @2

1. French / %59

2. Arabic / 3Rl

3. Spanish / g

4. Portuguese / g‘«fﬂﬁﬁ
Correct Answer :-

« Spanish / ofw

60) Vikramshila Gangetic Dolphin Sanctuary is located in which among the following states of India? /
faepafRrer 7 Sifep srvaRTY, YRd & Fafafeaa § & frg =g 4 R @2

1. Bihar / TS8R

2. West Bengal/tlf\gitla""ﬂﬂ

3. Assam / 3H

4. Uttar Pradesh / STR Ue=T

Correct Answer :-

« Bihar/fS8R



